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No; but ‘bring money and take yours’; he is a paid custodian

OVERVIEW

The X713 is saying that one should not infer from the s'miwn statement, 1AKRY 12127
'm"w NN X2 oW DX 7, that if he said, ''"nnx’ he is a w"w, but rather infer that if
he said 75w nR 9101 Nwn 827 he is (still) a w"w. However 10723 is (also) a n"'w. Our
moon explains the difference between 1N M3 and 77w DX 2101 Myn X7

mMdoIN responds to an anticipated difficulty:'
= INANTN NINNIY 29T DIN MY RIHNX M1 XY 1PNINNT 2) DY 9N

And even though na%23 is only a n''w (even though he did not say 77w nx 71),

because he finished his work, so seemingly 75w nx 7101 myn X271, should also be a n'"w,
since he also finished his work; what is the difference between 1023 and 77w DX 7101 Myn Ran?

mooIn responds:
199 29mv »H Mmvn INY 1Y DIV NIY NITNA WIDNY NI DIPN IO

Nevertheless here by 75w n& 71 myn X237, since he expressly stated that the
owner cannot take the item back until he will pay the money; therefore he is a
w''w. However by 1" 3, the 12X never indicated that he is holding back the item for payment.

SUMMARY
Announcing that the work is finished makes the 7 a 1n"w, unless he expressly will
not relinquish the item until he is paid.

THINKING IT OVER

Previously (X7 71"7) moon taught that 7°738K 72 0°9n by itself is not sufficient to
render the 72X a w"w; however here MdoIN seems to be saying’ that 7KK 7% 0N
alone is sufficient to render him a w"w. How can we reconcile this?*

! We understand the difference between myn xam 79w nR 7 (where he is a 1"'w because he told them to take it), and
Tow nR P01 Myn X271 (where he is a w"w, since he is not relinquishing the item until he gets paid). However once we
maintain that vnaa is also a n"w even though he did not (expressly) relinquish the item (he did not say 1w), this
would indicate that one becomes a 1"w not only by relinquishing the item, but merely by finishing the work, so
therefore by 772w nX 2101 Nwn X277 he should also be a n"w, since he finished the work.

? Presumably because he is 78K 72 0n. See “Thinking it over’.

? See footnote # 2.

4 See 7N *wIDn XN # 47-48.
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